iy

!-i_‘ - gy ¢

and inner radii of the clutch plate.

.. Y

© (@ With a neat sketch, explain compound gear train and write velocity

Wi equation. ! &
| Onsﬂa’jepiq qeypects o pulleys 1.2 m and 0.5 m diameter, on paral

: shafts 4 metres apart. The mass of the belt is 09 wwﬁhﬁ

maximum tension is not to exceed 2000 N. The coefficient of friction is 0.3

The 1.2 m pulley, which is the driver, runs at 200 r.p.m. Due to belt

of the pulleys, the velocity of the driven shafl is only 450 r.p.m. Calculate the

(i) Torque on each of the two Shafts

(i) Power Transmitted

(i) Power lost in friction

(iv) Efficiency of the drive.

6. (a) Write the classification of Cam. Explain with a neat sketch any one type

Cam.
(b) Two parallel shafts about 600 mm apart are o
shaft is run at 360 r.p.m. and other at 120 rp.m. Design the gears,

pitch is to be 25 mm.

be connected by spur gears. {
if the cire

7. (a) Define the following terms with respect to cam and follower -

(i) Trace point
(ii) Pitch circle
(iii) Base circle
(iv) Pressurc angle
(v) Stroke
(b) A camistobe designed for a kn
1. Cam lift = 40 mm during
motion.

2.  Dwell for the next 30°.
3.  During the next 60° of cam rotation, the follower returns 10 is:

position with simple harmonic motion. i

4. Dwell during the remaining 180°. =
Draw the profile of the cam when the line of stroke is of

from the axis of cam shaft. i
mnﬁunﬂhiblllchu‘leufmilw‘ eterm

ife edge follower with the following data :
90° of cam rotation with simple he

the cam rotates at 240 r.p.m. R
. -p.-,-.‘_,.!‘ '. 4+ '- :‘“':., b ki b o _-??' %

>~

A
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- e between static and dynamic balancing.
h with a neat sketch watt governor.

llﬁ with a neat sketch, balancing of single rotating mass by a single mass

~ rotating in the same planc. s
Four m,, m,, m,, and m, are 200 kg, 300 kg, 240 kg and 260 kg
- respectively. The corresponding radii of rotation are 0.2 m, 0.15 m, 0.25 m and
< .3 m respectively and the angles between successive masses are 45°, 75° and

- 135°. Find the position and magnitude of the balance mass required, if its radius
‘m is 0.2 m. _ 10

-
L
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issing data may be suitably assumed.

§x1=35

the blanks with appropriate word/words.
The relation between number of pairs (P) forming a kinematic chain and
the number of links (L) 1s
Offset is provided to a cam follower mechanism to
Due to slip of the belt, the velocity ratio of the belt drive
The balancing of rotating and reciproc ating parts

mwhcn frunsat ;

/) The frictional Torque transmitted in a pivot bearing, ¢

is
in with a neat sketch Smtch yoke mechanism. 5

of an Engine is

onsidering uniform

SECTION - |

H term Theory of Machines. ' 2
s three different types of links with one example each. 6
ﬂ a neat sketch Whith worth quick Return motion mechanism. 7

m between brake and clutch. §
5
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